MATHS

BOOKS - SUBHASH PUBLICATION

FRACTIONS AND DECIMALS

I. SOIVe. 2
5

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dZjTapFK2Jsl

2.Solve: 4 + %

o Watch Video Solution

3. Sol '3—|—2
.Ove.g 7

o Watch Video Solution

9 4
4.Solve: —— —
V&I T T3

o Watch Video Solution



https://dl.doubtnut.com/l/_jR9nK4zdykPM
https://dl.doubtnut.com/l/_h8e7XTFd01BL
https://dl.doubtnut.com/l/_gRFDogInDDbB

5. Sol '7—|—2+3
.Ove.l—o g E

o Watch Video Solution

6. Sol 22—|—31
. D0lve : § 5

o Watch Video Solution

7. Sol '81 35
.o0lve: E g

o Watch Video Solution



https://dl.doubtnut.com/l/_kVPNuVBHylOh
https://dl.doubtnut.com/l/_UNToSAcR7AcU
https://dl.doubtnut.com/l/_2efOmo0duK6W

8. Arrange the following in descending order:-

2 2 8

9’3’ 21

o Watch Video Solution

9. Arrange the following in descending order:-
1 3 7

571

o Watch Video Solution



https://dl.doubtnut.com/l/_7FUl5PaXVeNY
https://dl.doubtnut.com/l/_Dil11VeJja1h

10. In a "magice square", the sum of the
numbers in each row, in each column and

along the diagonas in the same. Is this a magic

square?
21214
11 | 11 | 11
3|57 Along thefirst row
11|11 |11 4.9 1215
Bl1]& 11 11 11 11

=
[
=
-
==
——

° Watch Video Solution



https://dl.doubtnut.com/l/_x5CCscDOysXi

1
11. A rectangular sheet of paper is 12§cm

long and 10§cm wide. Find its perimeter.

o Watch Video Solution

12. Find the perimeters of :- A ABFE

o Watch Video Solution

13. Find the perimeters of :- the rectangle

BCDE in this figure.



https://dl.doubtnut.com/l/_5SarmtPCzjKS
https://dl.doubtnut.com/l/_WWMHak2wLBXr
https://dl.doubtnut.com/l/_D8LjjP3dUl7m

o Watch Video Solution

14. In order to determine whose perimeter is

177 94 .
and — into

reater, we convert ——
5 20 12

equivalent fractions with denominators as the

LCM of 20 and 12.

A 177
"~ 20

s %
12

C 94 and 177
S 12 20

12
D. —
94


https://dl.doubtnut.com/l/_D8LjjP3dUl7m
https://dl.doubtnut.com/l/_ydORbQ5G4UMp

Answer:

o Watch Video Solution

15. Salil wants to put a picture in a frame. The

picture is 7gcm wide. To fit in the frame the
. 3 :

picture cannot be more 71—0cm wide. How

much should the picture be trimmed?


https://dl.doubtnut.com/l/_ydORbQ5G4UMp
https://dl.doubtnut.com/l/_k7NXY1H7Cd5d

D. 0.2

Answer:

° Watch Video Solution

3
16. Ritu ate 5 part of an apple and the
remaining apple was eaten by her brother
Somu. How much part of the apple did Somu

eat? Who had the larger share? By how much?

1
A. 0.4, Ritu; 5


https://dl.doubtnut.com/l/_k7NXY1H7Cd5d
https://dl.doubtnut.com/l/_q0LKpkPb0U4F

1
B. 0.6, Ritu; —
3

1

C. 045, Somu; E

1
D. 0.7, Somu;g

Answer:

o Watch Video Solution

17. Michacl finished colouring a picture in EP)
hour. Vaibhav finished colouring the same

picture in 7 hour. Who worked longer? By

what fraction was in longer?


https://dl.doubtnut.com/l/_q0LKpkPb0U4F
https://dl.doubtnut.com/l/_PxhVscaM7aa0

A. michacle; 1/6

B. vaibhav; 2/12

C.vaibhav; 1/3

D. michecl; 1/12

Answer:

o Watch Video Solution

18. Which of the drawings (a) to (d) is pictorial

representation of fraction given in figure:


https://dl.doubtnut.com/l/_PxhVscaM7aa0
https://dl.doubtnut.com/l/_QJf1VNPl0E3M

o Watch Video Solution



https://dl.doubtnut.com/l/_QJf1VNPl0E3M

19. Some pictures (a) to © are given below. Tell

which of them show:

1 3 1 2
U} 3:-:5 : (ii) “3 3

(i) 311_1_

» DD-BS
YV VTV

(<)

o Watch Video Solution



https://dl.doubtnut.com/l/_hA37kvh2G1xR

20. Multiply and reduce to Lowest form and

3
convert into a mixed fractions: 7 X g

° Watch Video Solution

21. Multiply and reduce to Lowest form and

convert into a mixed fractions: 4 X —

3

o Watch Video Solution



https://dl.doubtnut.com/l/_E9U4tVMD9CYT
https://dl.doubtnut.com/l/_weOq6v5Nvbxf

22. Multiply and reduce to Lowest form and

convert into a mixed fractions: 2 X —

7

° Watch Video Solution

23. Multiply and reduce to Lowest form and

convert into a mixed fractions: 5 X —

9

o Watch Video Solution



https://dl.doubtnut.com/l/_VknLI4vmHG0K
https://dl.doubtnut.com/l/_onu6xUmCLqeP

24. Multiply and reduce to Lowest form and

convert into a mixed fractions: 5 X 4

° Watch Video Solution

25. Multiply and reduce to Lowest form and

convert into a mixed fractions: B X 6

o Watch Video Solution



https://dl.doubtnut.com/l/_UGsV4MrnQsOD
https://dl.doubtnut.com/l/_c1Dd9hKKxCdg

26. Multiply and reduce to Lowest form and

5

convert into a mixed fractions: 11 X 3

° Watch Video Solution

27. Multiply and reduce to Lowest form and

4
convert into a mixed fractions: 20 x 5

o Watch Video Solution



https://dl.doubtnut.com/l/_QPz8BUDJLN1H
https://dl.doubtnut.com/l/_iKuqFaQwCqbA

28. Multiply and reduce to Lowest form and

1
convert into a mixed fractions: 13 X 3

° Watch Video Solution

29. Multiply and reduce to Lowest form and

3
convert into a mixed fractions: 15 X 5

o Watch Video Solution

1
30.Find: - of (a)24 (b)46



https://dl.doubtnut.com/l/_ep7v3c5R8Jqw
https://dl.doubtnut.com/l/_uQftyMLdpjOS
https://dl.doubtnut.com/l/_qiEHZxjh52hn

o Watch Video Solution

2
31. Find: 3 of (a)18 (b)27

o Watch Video Solution

, 3
32. Find: Zoflﬁ, 36

o Watch Video Solution

33. Find: % of 20, 35



https://dl.doubtnut.com/l/_qiEHZxjh52hn
https://dl.doubtnut.com/l/_XJwq2QItI9nE
https://dl.doubtnut.com/l/_LXw7OmmT1fMV
https://dl.doubtnut.com/l/_ckx8zCfwjRJa

o Watch Video Solution

34. Multiply and express as a mixed fraction:

3><51
5

o Watch Video Solution

35. Multiply and express as a mixed fraction:

5><63
4

o Watch Video Solution



https://dl.doubtnut.com/l/_ckx8zCfwjRJa
https://dl.doubtnut.com/l/_Pf2nxqg6vj4X
https://dl.doubtnut.com/l/_WGPAlqzPHzv8
https://dl.doubtnut.com/l/_EfAq6ZvnCKyY

36. Multiply and express as a mixed fraction:

7 21
X —
4

o Watch Video Solution

37. Multiply and express as a mixed fraction:

4><61
3

o Watch Video Solution



https://dl.doubtnut.com/l/_EfAq6ZvnCKyY
https://dl.doubtnut.com/l/_ONdlfvJjtUVl

38. Multiply and express as a mixed fraction:

4><1 §)
— X
4

o Watch Video Solution

39. Multiply and express as a mixed fraction:

3><2><8
5)

o Watch Video Solution

40.Find: = of 2>
.|n.20 4



https://dl.doubtnut.com/l/_EaA9mn1h53NT
https://dl.doubtnut.com/l/_Uug2wlgypjqa
https://dl.doubtnut.com/l/_SOJSC9GTGoDU

o Watch Video Solution

41F'd1 1’42
-Find: 2 of 45

o Watch Video Solution

42F'd5 f35
.Find: — of 3—
8 6

o Watch Video Solution

3. Find: > x 9 2
. FiNd: — —
neg 773



https://dl.doubtnut.com/l/_SOJSC9GTGoDU
https://dl.doubtnut.com/l/_mZMaMbeReHIz
https://dl.doubtnut.com/l/_s8nN9KIX9vfJ
https://dl.doubtnut.com/l/_u3jf65yNpcxs

o Watch Video Solution

44, Vidya and pratap went for a picnic. Their

mother gave them a water bottle that

2

contained 5 litres of water. Vidya consumed 5

of the water. Pratap consumed the remaining

water: How much water did Vidya drink?

o Watch Video Solution



https://dl.doubtnut.com/l/_u3jf65yNpcxs
https://dl.doubtnut.com/l/_8ll6z7497AMF

45, Vidya and pratap went for a picnic. Their

mother gave them a water bottle that

2
contained 5 litres of water. Vidya consumed 5

of the water. Pratap consumed the remaining

water: What fraction of the total quantity of

water did Pratap drink?

o Watch Video Solution

R 1 3 4
46. Find: (i) 1 of (a) 1 (b) v (c) 3

o Watch Video Solution



https://dl.doubtnut.com/l/_gvps4W9ulQde
https://dl.doubtnut.com/l/_SmxwtfjHXSjz

47.Find: () = of (a) = (b) < (c) —
-ln.(l)70(a)§()g(C)1—0

o Watch Video Solution

48. Multiply and reduce to lowest form (If

2
possible): 3 X 2§

o Watch Video Solution



https://dl.doubtnut.com/l/_SmxwtfjHXSjz
https://dl.doubtnut.com/l/_cMujfMV7bLAy
https://dl.doubtnut.com/l/_LFOSlvBqhHji

49, Multiply and reduce to lowest form (If

ible): 2 X /
pOSSi e.7 9

o Watch Video Solution

50. Multiply and reduce to lowest form (If

ible): ] X 6
possipble): § Z

o Watch Video Solution



https://dl.doubtnut.com/l/_yvZMsw9Crjwd
https://dl.doubtnut.com/l/_FO4HIM5cP326

51. Multiply and reduce to lowest form (If

ible) ) X 5
I :_ —
possible = =

o Watch Video Solution

52. Multiply and reduce to lowest form (If

ble): 2 % 3
ossiple):. — —
P 5 " 5

o Watch Video Solution



https://dl.doubtnut.com/l/_N8WDjxz0YDer
https://dl.doubtnut.com/l/_N6C8VosINPhq

53. Multiply and reduce to lowest form (If

ble): 1 y 15
possible): < 3

o Watch Video Solution

54. Multiply and reduce to lowest form (If

ble): 11 3
possible): —- x 10

o Watch Video Solution



https://dl.doubtnut.com/l/_b78KQnjcNVJY
https://dl.doubtnut.com/l/_jtudoIBF6dZW

55. Multiply and reduce to lowest form (If

ible): 4 y 12
possible): — 3

o Watch Video Solution

2 1
56. Multiply the following fractions: 5 X 5Z

o Watch Video Solution

2
57. Multiply the following fractions: 63 X g

o Watch Video Solution



https://dl.doubtnut.com/l/_TD6krvneAHW4
https://dl.doubtnut.com/l/_3oDFECvUE2VC
https://dl.doubtnut.com/l/_UCTMy2Wbem2I

3 1
58. Multiply the following fractions: 5 X 5§

o Watch Video Solution

5 3
59. Multiply the following fractions: 5 X 27

o Watch Video Solution

2 4
60. Multiply the following fractions: 33 X -

o Watch Video Solution



https://dl.doubtnut.com/l/_UCTMy2Wbem2I
https://dl.doubtnut.com/l/_0tFgG8dNumTt
https://dl.doubtnut.com/l/_fMcFI8My2Q1d
https://dl.doubtnut.com/l/_xiq8Ovf0Sbi6

61. Multiply the following fractions: 2% X 3

o Watch Video Solution

4 3
62. Multiply the following fractions: 37 X 5

o Watch Video Solution

63. Which i ter? 2 of 5 3]-'5
. C S greater¢ — OoTr — Or — —
chiss 7 "1 " 59y

o Watch Video Solution



https://dl.doubtnut.com/l/_xiq8Ovf0Sbi6
https://dl.doubtnut.com/l/_OBZDpQrCjX2s
https://dl.doubtnut.com/l/_cbl6KD6ZjrLy
https://dl.doubtnut.com/l/_KM6DOHBSsG5J

64. Salini plants 4 saplings, in a row, in her
garden. The distance between two adjacent
saplings is 7m Find the distance between
the first and the last sapling.

o Watch Video Solution

3
65. Lipika reads a book for 1Z hours everyday.

She reads the entire book in 6 days. How many


https://dl.doubtnut.com/l/_KM6DOHBSsG5J
https://dl.doubtnut.com/l/_a4ceLyvEJYmH
https://dl.doubtnut.com/l/_iyPoj0FrylfV

hours in all were required by her to read the

book?

° Watch Video Solution

66. A car run 16 km using 1 liter of pertrol. How
much distance will it cover using ZZ liters of

petrol.

° Watch Video Solution



https://dl.doubtnut.com/l/_iyPoj0FrylfV
https://dl.doubtnut.com/l/_rYj5etMyNqK1

67. Provide the number in the box [J, such

tht2><D—10
*3 “13°

o Watch Video Solution

68. Provide the number in the box [, such

3
that — x [ =2—4.
H 75

o Watch Video Solution

3
.Find: 12 - —
69. Find 1



https://dl.doubtnut.com/l/_okPhuuPoqeMz
https://dl.doubtnut.com/l/_9XKmQ8T6Pryu
https://dl.doubtnut.com/l/_177xQswWKJQn

o Watch Video Solution

5
70.Find: 14 + 3

o Watch Video Solution

71.Find: 8 = Z
3

o Watch Video Solution

_ 8
72.Find: 4 — —
3



https://dl.doubtnut.com/l/_177xQswWKJQn
https://dl.doubtnut.com/l/_0RbqxLxwZsMO
https://dl.doubtnut.com/l/_fETY2Q6C57ON
https://dl.doubtnut.com/l/_3QIZwz0hS7zd

o Watch Video Solution

1
73.Find: 3 + 2—
3

o Watch Video Solution

74.Find: 5 + 3;

o Watch Video Solution



https://dl.doubtnut.com/l/_3QIZwz0hS7zd
https://dl.doubtnut.com/l/_GCsv0qx9pCy9
https://dl.doubtnut.com/l/_8ZitNWJiGNbH

75.Find the reciprocal of each of the following
fractions. Classify the reciprocal as proper
fractions, improper fractions and whole

o 3
numbers:- —
7

o Watch Video Solution

76. Find the reciprocal of each of the following
fractions. Classify the reciprocal as proper

fractions, improper fractions and whole

5%
numbers:- —

8

| & I


https://dl.doubtnut.com/l/_UMQJCFPmsCtV
https://dl.doubtnut.com/l/_HTtQxz3n5UEj

| ¥ Watch Video Solution |

77. Find the reciprocal of each of the following
fractions. Classify the reciprocal as proper
fractions, improper fractions and whole

o 9
numbers:- —
7

o Watch Video Solution

78. Find the reciprocal of the following

fractions. Classify the reciprocal as proper


https://dl.doubtnut.com/l/_HTtQxz3n5UEj
https://dl.doubtnut.com/l/_BSpk8WSaydcY
https://dl.doubtnut.com/l/_38uAcTRj8CJ5

fractions, improper fractions and whole

7
bers:- —
numpers 5

° Watch Video Solution

79. Find the reciprocal of the fractions. Classify

the reciprocal as proper fractions, improper

12
fractions and whole numbers:- a

° Watch Video Solution



https://dl.doubtnut.com/l/_38uAcTRj8CJ5
https://dl.doubtnut.com/l/_yJRz10vHdnHP

80. Find the reciprocal of the fraction. Classify

the reciprocal as proper fractions, improper

1

fractions and whole numbers:- 3

o Watch Video Solution

81. Find the reciprocal of each of the following
fractions. Classify the reciprocal as proper

fractions, improper fractions and whole

1

bers:- —
numbers T

° Watch Video Solution



https://dl.doubtnut.com/l/_g4dxEVRDlXiK
https://dl.doubtnut.com/l/_xxPx7dbUANUp

82.Find: ; + 2

° Watch Video Solution

8. Find: 2 + 1~
.|n.g g

° Watch Video Solution

. 6
84. Find: i 7

° Watch Video Solution



https://dl.doubtnut.com/l/_xxPx7dbUANUp
https://dl.doubtnut.com/l/_uNB5KRNSfDmJ
https://dl.doubtnut.com/l/_bjYqlNLjU1cZ
https://dl.doubtnut.com/l/_HrIPioX8dnwk

1
85. Find: 4§ - 3

o Watch Video Solution

1

o Watch Video Solution

3
87. Find: 47 - 7

o Watch Video Solution



https://dl.doubtnut.com/l/_HrIPioX8dnwk
https://dl.doubtnut.com/l/_MRKBTeAwf1oO
https://dl.doubtnut.com/l/_1Df4rqtCs8Ox
https://dl.doubtnut.com/l/_BqwWR48ItQxY

88F°d2‘1
.Iﬂ.g.g

° Watch Video Solution

2
89. Find: é =~ —
9 3

° Watch Video Solution

, 3 8
90.Find: — — —
7 7

° Watch Video Solution



https://dl.doubtnut.com/l/_BqwWR48ItQxY
https://dl.doubtnut.com/l/_NO6WaqvujmTK
https://dl.doubtnut.com/l/_1sOashtLrN4u
https://dl.doubtnut.com/l/_oOcj4fRWmbDS

, 1 3
91.Find: 2— +— —
3 5

° Watch Video Solution

, 1 8
92.Find: 3— =~ —
2 3

° Watch Video Solution

, 2 1
93.Find: — =~ 1—
5 2

° Watch Video Solution



https://dl.doubtnut.com/l/_oOcj4fRWmbDS
https://dl.doubtnut.com/l/_g2po6XudyYUf
https://dl.doubtnut.com/l/_5EkeR8J3b3tU
https://dl.doubtnut.com/l/_ALfAWpEhOU9Z

, 1 2
94.Find: 3— - 1—
5 3

o Watch Video Solution

, 1 1
95.Find: 2— =+~ 1—
5) 5

o Watch Video Solution

96. Which is greater: (i) 0.5 or 0.05

o Watch Video Solution



https://dl.doubtnut.com/l/_ALfAWpEhOU9Z
https://dl.doubtnut.com/l/_2YAWOu1bapjO
https://dl.doubtnut.com/l/_2LFravpWPmf5
https://dl.doubtnut.com/l/_3yP1BOr6WxF4

97. Which is greater: (ii) 0.7 or 0.5

o Watch Video Solution

98. Which is greater: (iii) 7 or 0.7

o Watch Video Solution

99. Which is greater: (iv) 1.37 or 1.49

o Watch Video Solution



https://dl.doubtnut.com/l/_3yP1BOr6WxF4
https://dl.doubtnut.com/l/_ujkd3XHRMogR
https://dl.doubtnut.com/l/_GEvUg4LWm6H7
https://dl.doubtnut.com/l/_E4fidoGokFZB

100. Which is greater: (v) 2.03 or 2.30

o Watch Video Solution

101. Which is greater: (vi) 0.8 or 0.88

o Watch Video Solution

102. Express as rupees using decimals: (i) 7

paise

| I


https://dl.doubtnut.com/l/_E4fidoGokFZB
https://dl.doubtnut.com/l/_bcbdFDwGwzot
https://dl.doubtnut.com/l/_Qkklk5VyR20t
https://dl.doubtnut.com/l/_MozRgrtHKhnH

| ¥ Watch Video Solution |

103. Express as rupees using decimals: (ii) 7

rupees 7 paise

o Watch Video Solution

104. Express as rupees using decimals: (iii) 77

rupees 77 paise

o Watch Video Solution



https://dl.doubtnut.com/l/_MozRgrtHKhnH
https://dl.doubtnut.com/l/_cAlz8gwqq0ON
https://dl.doubtnut.com/l/_79PkoQk7BIoI
https://dl.doubtnut.com/l/_rU6JtscTmJ07

105. Express as rupees using decimals: (iv) 50

paise

o Watch Video Solution

106. Express as rupees using decimals: (v) 235

paise

o Watch Video Solution

107. Express 5cm in metre and kilometre

o Watch Video Solution



https://dl.doubtnut.com/l/_rU6JtscTmJ07
https://dl.doubtnut.com/l/_oQneuuCPWebO
https://dl.doubtnut.com/l/_KSRYJyDkaVCZ

108. Express 35mm in cm, m and km.

o Watch Video Solution

109. Express in Kg: (i) 200g (ii) 3470g (iii) 4kg

and 8kg

o Watch Video Solution



https://dl.doubtnut.com/l/_KSRYJyDkaVCZ
https://dl.doubtnut.com/l/_glBzfouQmeen
https://dl.doubtnut.com/l/_3l8JdqNQbPQp

110. Write the following decimal number in the

expanded form: (i) 20.03

o Watch Video Solution

111. Write the following decimal number in the

expanded form: (ii) 2.03

o Watch Video Solution



https://dl.doubtnut.com/l/_p0Rd2Anv5gDY
https://dl.doubtnut.com/l/_cFQKjXBZM1IK

112. Write the following decimal number in the

expanded form: (iii) 200.03

o Watch Video Solution

113. Write the following decimal number in the

expanded form: (iv) 2.034

o Watch Video Solution



https://dl.doubtnut.com/l/_EHokH8Y7oHdy
https://dl.doubtnut.com/l/_FAPUaSE5UNwy

114. Write the place value of 2 in the following

decimal numbers: (i) 2.56

o Watch Video Solution

115. Write the place value of 2 in the following

decimal numbers: (ii) 21.37

o Watch Video Solution



https://dl.doubtnut.com/l/_IXpYiWuiHhPu
https://dl.doubtnut.com/l/_7t48ZK3DFFx2

116. Write the place value of 2 in the following

decimal numbers: (iii) 10.25

o Watch Video Solution

117. Write the place value of 2 in the following

decimal numbers: (iv) 9.42

o Watch Video Solution



https://dl.doubtnut.com/l/_yfZ4wSsISzRa
https://dl.doubtnut.com/l/_1seBEgytujEg

118. Write the place value of 2 in the following

decimal numbers: (iv) 63.352

o Watch Video Solution

119. Dinesh went from place A to place B and
from there to place C. A'is 7.5km from B and B
is 12.7km from C. Ayub went from place A to
place D and from there to place C. D is 9.3 km

from A and C is 11.8km from D. Who travelled


https://dl.doubtnut.com/l/_Ffhn5HOhKIAk
https://dl.doubtnut.com/l/_0Kz0S2iLECOb

more and by how much?

A. Dinesh; 500m

B. Ayub; 300m

C. Dinesh. 900m

D. Ayub; 900m

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0Kz0S2iLECOb

120. Shyama bought 5 Kg 300g apples and 3kg
250g mangoes. Sarala bought 4Kg 800g
Oranges and 4Kg 150g bananas. Who bought

more fruits?

° Watch Video Solution

121. How much less is 28Km than 42.6Km?

° Watch Video Solution



https://dl.doubtnut.com/l/_mhifKvAStXP7
https://dl.doubtnut.com/l/_wAOwmdmV5Ecm

122. Find: (i) 0.2 X 6

o Watch Video Solution

123. Find: (ii) 8 x 4.6

o Watch Video Solution

124. Find: (iii) 2.71 X 5

o Watch Video Solution



https://dl.doubtnut.com/l/_OcV1lCI2RUPh
https://dl.doubtnut.com/l/_Do7VHqjJfNMf
https://dl.doubtnut.com/l/_eqCxXrjmRAE6

125.Find: 20.1 x 4

o Watch Video Solution

126. Find: (v) 0.05 x 7

o Watch Video Solution

127.Find: (v) 211.02 x 4

o Watch Video Solution



https://dl.doubtnut.com/l/_bd2UMO918RB8
https://dl.doubtnut.com/l/_bt3jIwpf0nZT
https://dl.doubtnut.com/l/_ppAlchwlGLkB

128. Find: (vi) 2 x 0.86

o Watch Video Solution

129. Find the area of rectangle whose length is

5.7cm and breadth in 3cm.

o Watch Video Solution

130.Find : 1.3 x 10

o Watch Video Solution



https://dl.doubtnut.com/l/_v7T09uvN5cry
https://dl.doubtnut.com/l/_I1l0qVCRp6Zk
https://dl.doubtnut.com/l/_NwDecq4pokmW

131. Find : 36.8 x 10

° Watch Video Solution

132.Find : 153.7 x 10

° Watch Video Solution

133.Find : 168.07 x 10

° Watch Video Solution



https://dl.doubtnut.com/l/_NwDecq4pokmW
https://dl.doubtnut.com/l/_z1xmi3Id4Yba
https://dl.doubtnut.com/l/_tGUZ10SZL7ZH
https://dl.doubtnut.com/l/_q42rxiG6ZSHV

134.Find : 31.1 x 100

o Watch Video Solution

135.Find : 156.1 x 100

o Watch Video Solution

136.Find : 3.62 x 100

o Watch Video Solution



https://dl.doubtnut.com/l/_q42rxiG6ZSHV
https://dl.doubtnut.com/l/_vmUETUGce9uT
https://dl.doubtnut.com/l/_sT14scYHIffF
https://dl.doubtnut.com/l/_aUulE7rMcdtX

137.Find : 43.07 x 100

° Watch Video Solution

138.Find : 0.5 x 10

° Watch Video Solution

139.Find : 0.05 x 10

° Watch Video Solution



https://dl.doubtnut.com/l/_aUulE7rMcdtX
https://dl.doubtnut.com/l/_6QDi6mMvk5Xc
https://dl.doubtnut.com/l/_f36FijvagORL
https://dl.doubtnut.com/l/_jOQfzt4DOjJc

140. Find : 0.9 x 100

o Watch Video Solution

141. Find : 0.03 x 1000

o Watch Video Solution

142. A two wheeler covers a distance of 55.3km

in one litre of petrol. How much distance will it


https://dl.doubtnut.com/l/_jOQfzt4DOjJc
https://dl.doubtnut.com/l/_dDeRhxG4QrBn
https://dl.doubtnut.com/l/_Ex12EJHDVhCF
https://dl.doubtnut.com/l/_8R62pskT0aPD

cover in 10 litres of petrol?

o Watch Video Solution

143. Find : 2.5 x 0.3

o Watch Video Solution

144.Find : (ii) 0.1 x 51.7

o Watch Video Solution



https://dl.doubtnut.com/l/_8R62pskT0aPD
https://dl.doubtnut.com/l/_PLQhwQZ1BeAJ
https://dl.doubtnut.com/l/_CQybIDSCbEKd
https://dl.doubtnut.com/l/_2HLvqM4n7JVU

145. Find : (iii) 0.2 x 316.8

o Watch Video Solution

146.Find : 1.3 x 3.1

o Watch Video Solution

147. Find : (v) 0.5 x 0.05

o Watch Video Solution



https://dl.doubtnut.com/l/_2HLvqM4n7JVU
https://dl.doubtnut.com/l/_JbLAVNNikAiZ
https://dl.doubtnut.com/l/_RutkCQogc1gh
https://dl.doubtnut.com/l/_ACdwm2Qm3bMW

148.Find : 11.2 x 0.15

o Watch Video Solution

149.Find : 1.07 x 0.02

o Watch Video Solution

150.Find : 10.05 x 1.05

o Watch Video Solution



https://dl.doubtnut.com/l/_ACdwm2Qm3bMW
https://dl.doubtnut.com/l/_NzywuOoeqZ0A
https://dl.doubtnut.com/l/_rHI3fR6ZWTDh
https://dl.doubtnut.com/l/_6T4k27xW7pCs

151. Find : (ix) 101.01 x 0.01

o Watch Video Solution

152. Find : 100.01 x 1.1

o Watch Video Solution

153. Find : (i) 0.4 + 0.2

o Watch Video Solution



https://dl.doubtnut.com/l/_6T4k27xW7pCs
https://dl.doubtnut.com/l/_cjfsZJFntlkt
https://dl.doubtnut.com/l/_djXF05U4IaUu
https://dl.doubtnut.com/l/_jy6LuEVnS4CK

154.Find : (ii) 0.35 + 5

° Watch Video Solution

155.Find : 2.48 - 4

° Watch Video Solution

156. Find : (iv) 65.4 = 6

° Watch Video Solution



https://dl.doubtnut.com/l/_jy6LuEVnS4CK
https://dl.doubtnut.com/l/_v3hrwhzN2578
https://dl.doubtnut.com/l/_NjsDQdMkXACS
https://dl.doubtnut.com/l/_OC7pyVHfppDs

157.Find : 651.6 + 4

o Watch Video Solution

158. Find : (vi) 14.49 = 7

o Watch Video Solution

159. Find : (vii) 3.96 + 4

o Watch Video Solution



https://dl.doubtnut.com/l/_OC7pyVHfppDs
https://dl.doubtnut.com/l/_oAwsHQj3385j
https://dl.doubtnut.com/l/_jdv4A2MkCRKW
https://dl.doubtnut.com/l/_YE8jGjsXS6SM

160.Find : 0.80 = 5

° Watch Video Solution

161.Find : (i) 4.8 = 10

° Watch Video Solution

162. Find : 52.5 + 10

° Watch Video Solution



https://dl.doubtnut.com/l/_YE8jGjsXS6SM
https://dl.doubtnut.com/l/_YsdxnQUAgCEZ
https://dl.doubtnut.com/l/_r3btWp4sCcQw
https://dl.doubtnut.com/l/_iWf0GSnZ8hPn

163. Find : 0.7 + 10

o Watch Video Solution

164.Find : 33.1 =+ 10

o Watch Video Solution

165. Find : (v) 272.23 =+ 10

o Watch Video Solution



https://dl.doubtnut.com/l/_iWf0GSnZ8hPn
https://dl.doubtnut.com/l/_ALqDOChRhyI0
https://dl.doubtnut.com/l/_RE5u3n7y24cs
https://dl.doubtnut.com/l/_conVL3zOz0oN

166. Find : (vi) 0.56 < 10

o Watch Video Solution

167. Find : (vii) 3.97 = 10

o Watch Video Solution

168. Find : (i) 2.7 + 100

o Watch Video Solution



https://dl.doubtnut.com/l/_conVL3zOz0oN
https://dl.doubtnut.com/l/_SSCfgINCRJpQ
https://dl.doubtnut.com/l/_kjz6O7MEwvNP
https://dl.doubtnut.com/l/_nIE6R68SEb3z

169. Find : (ii) 0.3 = 100

o Watch Video Solution

170. Find : (iii) 0.78 = 100

o Watch Video Solution

171. Find : (iv) 432.6 = 100

o Watch Video Solution



https://dl.doubtnut.com/l/_nIE6R68SEb3z
https://dl.doubtnut.com/l/_qqH8rneE2ZhR
https://dl.doubtnut.com/l/_3zZ17oLQrWiI
https://dl.doubtnut.com/l/_zGcToJddi3lE

172. Find : (v) 23.6 < 100

o Watch Video Solution

173. Find : (vi) 98.53 + 100

o Watch Video Solution

174.Find : (i) 7.9 <+ 1000

A.0.79

B. 0.0079


https://dl.doubtnut.com/l/_zGcToJddi3lE
https://dl.doubtnut.com/l/_J45Z4jyga0NC
https://dl.doubtnut.com/l/_TsyAAbqydvQ9

C. 0.00079

D. 7900

Answer:

° Watch Video Solution

175. Find : (ii) 26.3 < 1000

° Watch Video Solution

176. Find : (iii) 38.53 <+ 1000


https://dl.doubtnut.com/l/_TsyAAbqydvQ9
https://dl.doubtnut.com/l/_8lIXSCfLYRXb
https://dl.doubtnut.com/l/_PKtcuAZOBVq0

° Watch Video Solution

177.Find : (iv) 128.9 < 1000

° Watch Video Solution

178. Find : (v) 0.5 = 1000

° Watch Video Solution

179.Find: 7 <+ 3.5


https://dl.doubtnut.com/l/_PKtcuAZOBVq0
https://dl.doubtnut.com/l/_P8o9oLtdUIhp
https://dl.doubtnut.com/l/_6QkFgxhJScFg
https://dl.doubtnut.com/l/_JShlKL0MCafF

° Watch Video Solution

180. Find: 36 < 0.2

° Watch Video Solution

181. Find: 3.25 < 0.5

° Watch Video Solution

182. Find: 30.94 - 0.7


https://dl.doubtnut.com/l/_JShlKL0MCafF
https://dl.doubtnut.com/l/_uolQINsZyiwd
https://dl.doubtnut.com/l/_zn64Qdm9exeH
https://dl.doubtnut.com/l/_tJRss0pey7oL

° Watch Video Solution

183. Find: 0.5 <+ 0.25

° Watch Video Solution

184.Find: 7.75 <+ 0.25

° Watch Video Solution

185. Find: 76.5 + 0.15


https://dl.doubtnut.com/l/_tJRss0pey7oL
https://dl.doubtnut.com/l/_P5dKt0IhBMiS
https://dl.doubtnut.com/l/_F92Ai23e3yn8
https://dl.doubtnut.com/l/_s4piF5aqCy5v

° Watch Video Solution

186. Find: 37.8 + 1.4

° Watch Video Solution

187.Find: 2.73 <+ 1.3

° Watch Video Solution



https://dl.doubtnut.com/l/_s4piF5aqCy5v
https://dl.doubtnut.com/l/_f6XGhPfDNknM
https://dl.doubtnut.com/l/_EMeK3s5OH2eA

188. A vehicle covers a distance of 43.2Km in

2.4 litres of petrol. How much distance will it

cover in one litre of petrol.

A. 16km

B. 19km

C. 18km

D. 14km

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rIeOsjhpTPi1




